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(1) 3x8 =24 (2) 4Xx7 =28 (3) 7X9 =638
(4) 8X6 =48 (5) 5X0 =0 (6) 1X0 =0
(7) 0X9 =0 (8) OX0 =0

2] o [ ] chCiEsfasExEL o,

(1) 7X4=7X3+ 7 (2)
(3) 5X7=5X6+ 5 (4)
(5) 2X4=2X5— 2 (6)
(7) 8X5=8X6— 8 (8)

o [ ] b CiaEskasExslr i,

(1) 8X4=4X 8 (2)

(3) 4X5= 5 X 4 (4)

(5) 6 X9 =9X6 (6)

6 X6=6X5+ 6

3X4=3X3+ 3

4 X8=4X9 — 4

I9X9=9X10— 9

6 X2=2X 6

7 X6 =

X8 =8X6



[4] woztEELEL x5,

(1) 10x8 =80 (2) 4X10 =40 (3) 1T0X5 =50

(4) 2X10 =20 (5) 10X6 =60 (6) 1T0X10 =100

[5] L0 EAE, 172131 0 FVOaifs 6 721Fb o TWEd, AftE, TASTME
WHDHTL X 2D

<A >
10xXx6=60
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1505 AL, BIZLENTZFOATWET, 1Z5BIAE, FO5L A%
105<ALoTWVET, ITHABIAIE, BlZLx%E, ASTHMZHL - TWWAHTL
X 90,

<A >
7Xx10=70

[7] Zz2m2 4cnb g, BAREXE LYY,

3X8 4 X6 6 X4 8 X3




